log AY CIE tristimulus value
difference
adaptation time tp>=25s
Exp. RI, AY*1, 11 achromatic

log (AY/Y) CIE tristimulus value
relative difference
adaptation time tp>=25s
Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]

= =60

VEO030-3A_1
(L*/L* ) CIELAB ligthness
relative normalized data
1z adaptation time tp>=25s
10
80
60
s (1= 0]
40
20

0+

VEO030-5A_1

[o]s] [(Y/AY? ! (Yu/AYy)] CIE tristimulus
value, relative sensitivity
adaptation time tp>=25s

Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]
o®® =60

mmmmmm s sma M=0

_-" m=1/3

x=logY

4 5
VE030-7A_1
VEO030-7R

log (Y/AY) CIE tristimulus value
contrast sensitivity
adaptation time tp>=25s
Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]

= =60

-t e e WSO

-
-
=

3 2 -1 0 1 2 3
VE030-2A_1
(Y/AY) CIE tristimulus value
contrast sensitivity
60T adaptatiohtie t,>=25s
50 Exp. RI, AY*1, 11 achromatic

40
30
20
10

0+

VE030-4A_1

u) CIELAB ligthness
relative normalized data
adaptation time t,>=25s
=
[cd/m?]
L m=1/3 --60

-
PR S 01 = 0]
o=

-

VE030-6A_1

log [(AY/Yy) / (AY/Yy)] CIE tristimulus
value, relativé contrast
8T adaptation time t;>=25s

Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]

- =60

VE030-8A_1

log AY CIE tristimulus value
difference
adaptation time t,>=25s
1 Exp. RI, AY*1, 11 achromatic

Lom=1

VE031-1A_1

log (AY/Y) CIE tristimulus value
relative difference
4 adaptation time t,>=25s
Exp. RI, AY*1, 11 achromatic

(L*/L* ) CIELAB ligthness
relative normalized data
adaptation time tp>=25s

mmmmmamemer === =0

VE031-5A_1

[o]o] [(Y/AYP / (Yu/AYy)] CIE tristimulus
value, relativé sensitivity
adaptation time t,>=25s

Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]

- =60

VE031-7A_1

log (Y/AY) CIE tristimulus value
contrast sensitivity
adaptation time t,>=25s
2 4 Exp. RI, AY4dy 1T achromatic Ly=
o [cd/m?]

= =60

_-" m=1/3
Of==== -‘-‘-n-'-‘-_u 0

x=logY

3

VE031-2A_1

(Y/AY) CIE tristimulus value
contrast sensitivity
60T adaptatibh’the’t,>=25s

50 Exp. RI, AY*1, 11 achromatic
40

30
20

u) CIELAB ligthness
relative normalized data
adaptation time tp>=25s
Ly=
[cd/m?]
L.e" m=1/3 --60

-
-----‘-‘.n.’--- - == M=0

VE031-6A_1

log [(AY/Yy) / (AY/Yy)] CIE tristimulus
value, relative contrast
adaptation time tp>=25s
1 § Exp. RI, AY*1, 11 achromatic Ly=
[cd/m?]

= =60

VE031-8A_1



